HOFFMAN




nVent HOFFMAN Power System
Mounting instructions

Enclosure 3
Modular system 7
Incoming section 14
Fixsystem 18

Form 2 18

Form 3 26

Form 4 37
Plug-in system 48
Cable section 54
Top/bottom frames 58
Doors, panels, side panels 62
Accessories 68

Busbar system 74




Qty.

8

8

4

Pic.

M6x12

M6

gasket

Neopren

Ref.

A B Msx10

B

C| < Méx12| 4

D

CDV
VERTICAL DIVIDER

T30

* | | %

T25

Torque
6-8 Nm

W@

{

-

Torque
8-10 Nm

3

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



Qty.

8
16
8

8

Pic.

VBK1200
® Mb5x10

M6x12

Ref.

A
B

C | B Mex12

C | @ Meéx12

VBK1200

VBKO04
REAR DIVIDER AND DEPTH PROFILES

T30

* | | %

T25

8-10 Nm

0]
o
o
=
(o]
e

AsTRSTASTASTAS
e
== == =

4

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



T40

° PF/PS

Swa

PLINTH

Ref. Pic. Qty.
A | M12x20| 4
B M8x16 | 4/8
C M12 | 4

EE

el

Zo7

E

EXT=1

Oo—
10-15 Nm 9

f o

WA\ /22

Torque
15-20 Nm

0

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

5




Qty.

18
20
20
18
20
20
10
1"
1"

Pic.

aST5.5x13

MSPS1806
MSPS2006
MSPS2206
MSPS1806F
MSPS2006F
MSPS2206F
MSPS1803
MSPS2003
MSPS2203

Ref.

A

\\\\\\\\\\\ TITITTT \\ TTI7T777771777 \ 7777, \\\\\\\\\\\\\\ ./

uuuuuuuu

uuuuuuuuu

Torque
7-10 Nm

MSPS
INTERNAL SIDE PANELS

T25

9 0 0 0 0 0 2 © ©0 0 O

MSPSxxx6F  MSPSxxx3

MSPSxxx6

6

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



FORM 1
MODULAR SYSTEM

7

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

M5x10 | 14
M6x12| 8

C.

Pi

Ref.

8

POWER SYSTEM MANUAL

FORM 1
MSMSF
PROFILE
OPTION A

S s 8 S S S o s S S S o &

MOUNTING OPTIONS:

DO NN NSNS NSNS0
<

R N S R S < Qs

[Z [Z

a a = a =4 = a a2 = a

of

Torque
4-5.5Nm

o

SUBJECT TO CHANGE WITHOUT NOTICE

T30

* | %

T25

HOFFMAN.nVent.com | www.eldon.com



FORM 1
MSMSF
PROFILE

MOUNTING OPTIONS:
OPTION B

Pic.

p @ @ @ e @ @ @ @ @

s s 5 S e S 05 S es  0©

D
o
2|
3
o
3 o
R
o Q
2] ~
D
2| ’ ~
\/’
D
o
)
s
o
& o
D Q ®
o Prs
)
L) Pid
o
2|
9
o
)
B
D Mo ©
4-5.5 Nm

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

9




Q F O RM 1 Ref. Pic. Qty.
25 MSMCP ey
MSMCP150x 4
SLOTTED FRONT PANEL MSMCP200x | 4
A MSMCP300x-1 6
MSMCP300x-2 6
MSMCP450x 8
MSMCP600X 10
ﬂ.ﬂ %.%
75 AL .Q'Q %MSX!D
zrdli “‘-Q:E-Q_ MSMCP150x 4
i o Al RN MSMCP200x 4
e Alle 'Q-E:h.h B MSMCP300x-1 4
7 -g:ﬂ"’ dlle Q'Q:E-m, MSMCP300x-2 | 8
ﬂﬂzg,g» e 'Q.E:Q% MSMCP450x 12
455 A SN MSMCP600x 16
,¢:ﬂ.ﬂ afllg X
(1 DIN Rail /

N e MSMCP150x 1
g alle MSMCP200x 1
5 Slle , C | msmMcP300x-1 1
5 Al 2 - MSMCP300x-2 2
g s o MSMCP450x 3
¢ e A MSMCPB00X 4
¢ N
5 Sl .

g ofol Il .
5 ofol Il N
g (ol [ o,
g Jl :
Ml ,
; - .
g ol )
RAie
g Niiig -
5 ]l
i | .
8 ol
5 o)l |[1e
§ sdll|[1s
5 o/l |[1e
§ sl
§ S Hie
g KAl
(e
§ | .
§ EQ .
§ L .
§ | o
5 ]l le
8 sl
5 o]l |[1e
§ o]l |[1e
g Nedili
5 o/l |[1s
5 sldll|[1s
§ B e
B Hie
g RIS
6 o .
g 2.
g e <N Il
Z o541
g 0'0?9 g Q.ﬂ 1 (1o
i Z 500 ARLITIO8
D' e
: Z 500 -
g .0‘0909:19'9 oAl
g 0
&5 o o/ol[[[[e
o 2 ﬂ,ﬂ‘ﬂ B fim
“,p:g.ﬂ‘ oo
< o .
%Q%:»a% o .
N Ml
S
S ojal (1l
S
0_0%® o| .
oSS sl
S
o) sl
TR .
QQ.%Q .
G
Q.Q :
HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 10




2 NS T ©©0©owol
(¢]
XXX XXX X XXX
[eclelololololololele]
N DLOVLOULOOWNOO
. ~ O~ A NN IO
o X o000 000a
o O moMmmomMmMmomomm
L =S=2=2=2=2=2====
= NDONNNNNNNN
% SSS=S=S=====
Y—
& <

FORM 1

MSMBP
PLAIN FRONT PANEL

T25

Torque

11

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 1 Ref. Pic. Qty.

T25 MSMPAO1

ADJUSTABLE BRACKET

Torque Torque
8-10 Nm 8-10 Nm

2
o
0 ’ N
0
K 0
0 2
o) 0 |
VI T (o
@0 » Q
o |, ’ 9
Kl . § 2] .

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 12



Qty.

Pic.

M5x10| 4

Ref.

B

FORM 1

MSMPFO1
FIXED BRACKETS

T25

MODULAR SYSTEM
MCSL+MSMSF

MSMSE

13

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



.W.' © N N
G -~ ~ © -~
19 ol o
s | 8| 8| ==
g | = 2| 2
2 2& B
B l<|ao|o|o

FORM 1

APK
ADJUSTMENT PROFILES

T30

% | #

T25

Mounting options:

Option A

Option B

Option D

Option C

orque
10 Nm

T
8-

®)

Option E

Torque _»
8-10 Nm

4

\/nl

/4

10 Nm

\\Torque
8-

T!)rque
8-10 Nm

14

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



INCOMING SECTION

15

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

18
20
20

Pic.

@ST5.5x13
MSPS1806
MSPS2006
MSPS2206

Ref.

A

MSPS
SIDE PANELS

( /A\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ \

\ \

2 0 0 0 0 0 0 O 2 O O

T25

16

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

Pic.

Ref.

A @smxm 4

MSCC
SELF FOR ACB

SWi13

A
' /\\\\\\\\\\\\\\\\\\\\\\

JITT777777747777777777777777777477777777777777777977777777777777

Torque
10-15 Nm

17

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 2
FIX SYSTEM

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

18



Qty.

Pic.

Ref.

A | G M5.5x13 | 20

FORM 2

MSFP
VERTICAL PROFILES

T25

Torque . —|

7-10 Nm

19

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



- FORM 2 Ref. Pic. Qy.

25 MSMPN/MSMPNxxxxV 155013
MOUNTING PLATE MSMPNO0506

MSMPN1006/MSMPN1006H
MSMPN1506/MSMPN1506V
A MSMPN2006/MSMPN2006V
MSMPN2506/MSMPN2506V
MSMPN3006/MSMPN3006V
MSMPN4006/MSMPN4006V
MSMPN4506/MSMPN4506V
MSMPN5006/MSMPN5006V
MSMPN6006/MSMPN6006V
MSMPN6010
MSMPN8xxxx/MSMPN8xxxxV

[ee)e N JorNerYop o) R oE SaE SR SN \V)

a2t

RRR

v
N\

KR

SR
R
T

®

LI1IIII7F 787777787 FTLLTL71771717F77707F777F7770707070707F7F77

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 20



Qty.

Pic.

Ref.
A

ST5.5x70
B \ X 10

MSADP
DIN-ADAPTOR

T25

-

e ——

21

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



S 9 8 8 &8 &8 8 o

Losscscacd,

~ E=

22

POWER SYSTEM MANUAL

MSFG

(IIIIIIIIITIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIY

CONTACT PROTECTION

Ol

N omomommompmompmomemsm o= ===

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



> el Jolololo)
= v ANNANN
]
P ©woww®
% 900000
5 ©0OOONN
: : T ANANANN
LC | v oononn
o | b 000000
L L L L L L
NANNNNUN
% =S=====
@ <
o

FORM 2

MSFCP
FRONT COVER PROFILES

T25

f

}

/

23

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



mW. <t o0 ool - - N® S
v o < Q
X X X X X X X X X X X X
o O O O O o [eleoNoNeNeNe)
n 0O O o WwOo 0 o O O Wwo
. T T N MM ST O _ T NO M T O
o Y o B W W o
a £ O0O0CC00C0| £0C0000O0
===2=2==2 5§ =2=2=2=2=22
%SSSSSS DDDDDD
=S===Z== =S==Z===
w—
9] << m
o

FORM 2

MSMCP
SLOTTED FRONT COVER

T25

Torque
8-10 Nm

24

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



2 NSt ©©0©o0ol
¢}
X X X X X X X X X X
slslslslolclololole
n NOVONOOVAOS
. ~ O~ ANANMS IO
o P W W W W W s e W i
L =S=========
= NONNNNNNNNN
% ==========
Y
& <

25

POWER SYSTEM MANUAL

FORM 2

MSMBP
PLAIN FRONT PANEL

T25

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 3
FIX SYSTEM

TTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTT



# FORM 3 Ref. Pic. Qty.

= MSFP U M5.5x13

20

VERTICAL PROFILES

(A | )
Torque . —|
7-10 Nm
R
N
N
N
~a
N
N
N
N
N
N
N
N
N
N
~.
N
N
N
N
N
N
N
N
N
N
~.
N
N
N
N
N
N
~o
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
[SeTeele e e e fe eI e = Ie ] [SO= e e e e e (e e e e D e (e T ] NG
~a
glo oo ol o o0 N
g i g 5l N
g i g 1 N
i i g 1 N
0 i) 0 ) N
0 il 0 |3 ~
g 0 g 12
9 i g 12
9 i g 12
9 i g 110
9 i 2T 0
i ]: g 33
g i g N
il G a} X 9
2 i g 12
u] n) ] 0
< % g o el E g 0
O | — ol g AN |~ o o
N g g N g o
gjo oju gjo o |u
Profile is mounted in this depth Profile is mounted in this depth

if you are going to use front covers if you are going to use partial doors/panels

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 27



2 O <t <t <F < €O €O (O (O 00 00 €O
€]
>
I>>>>>>>> %
© © © O WO o3
[clololololoNoNeNe] o3
oOLOWLOOWLOOo ©
™ T AN NS IO O =z
S zzzzzzzzz £
. EVM [a B ey B a Y a M a Y a N a Y 0 I =
Q P S==2=2=2==== %]
o L boonnonnn 2
b =3333322= =
OCOOWOWOWOWOOOOO X
D 2833382888385 %
" O~ ANANN IO OO0
222222222222
[a Ny a iy a Wy n B a M o B a Y a TR n Y a RN n B 0 Y
S=S=S2=2=2=2=2=2=2=2=22=
DDDDDDDDDDHDD
S=S=S=S=S=2=2=2=2===
ko]
B <

FORM 3
MSMPN/MSMPNxxxxV
MOUNTING PLATES

T25

28

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.
10

Pic.

B | “\, ST5.5x70| 10

Ref.
A

FORM 3
MSADP
DIN ADAPTOR

T25

S —————- \\
YeA=YeAsYeAsYeAcys Asle AT e AV e AsY e AcY e AeT e sV e AVo A e Ae¥e AeYe AsVe AV e AV o ASY eAST e AT e Ao a

AT ATs A oA AT AT e AT e AT AT oA

NeATeA AT Ao AT AT AT oA eAT oA AT AN
@

4

29

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



MSFG
CONTACT PROTECTION

FORM 3

30

9 9 88 8 & 8 8 o ¥

Jais)xiz.0)2)s!

POWER SYSTEM MANUAL

Cosssscaadl,
~] BE=

2

X/ /171 I7TVIITTIIITIIIIIIIIIIIIIIIIITIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII7

NANS N /77

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

18
18
20
20
20
20

Pic.

@ ST5.5x13

MSFCP1806
MSFCP1808
MSFCP2006
MSFCP2008
MSFCP2206
MSFCP2208

Ref.

A

FORM 3

MSFCP
FRONT COVER PROFILES

T25

.

/

}

31

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



T25

T o

FORM 3
MSMCP
SLOTTED FRONT PANEL

7,
o2
52
Y/,

M JLLLLLLLLLLLLLLLLLLLLLLLLLELLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLL

Ref.

Pic.

Qty.

B M5.5x13

MSMCP150x

-—
0000303##

DIN Rail S~

CP200x

<<

(@)
0
w
o
=)
X

N

CP600x

AWON=2=2

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

32




Qty.

2
4
4
4
6
6
6
8
8
10

Pic.

%% M5.5x13

MSMBP050x
MSMBP100x
MSMBP150x
MSMBP200x
MSMBP250x
MSMBP300x
MSMBP400x
MSMBP450x
MSMBP500x
MSMBP600x

Ref.

A

FORM 3

MSMBP

T25

Torque

B........................ k..............................
@ @ @
AN\ =~ = TS S SN s EACRar I WSSy RS SN
7 &
— i \ \
7 &)
L 4
N Qmwﬁ s e ». - .a. »a ,@.l ..- .o .o ... .a .0 /.// .a .@.a .o .o .a .: .a .0 . .a. .a oa ’; .l ... ..- ......
7 (@
A .Q.. - - - - - - - - - - n\r/ \W. \ - - - - =
7 5
(al i
' &
— /4
7 5
i
Z Y ...
/7 &)
O 1
h-k%- oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
Y e
X
L S0 JTITTT7777 TTTTTTTTTTTTITITITTITITTTTTTTTT7 JTI77777
W N
= ) . .
12
- 22
< R R B ISP
L a.ﬂ%ﬁg s s £
o N2
2
R 2 ’
g
TR B
T D o,
N \
— — — — /.

33

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 3

MSIS
HORIZONTAL DIVIDER

777777777 J777777 TIIT77777

34

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



T25

FORM 3
DP/DPP
PARTIAL DOOR/PANEL

@ Torque
8-10 Nm
4

@ & o ¢ © © ¢ 0 © 06 ¢ © © 6 b © © & O P & P P O & E & & & & & o

\
N\

A\
Q-Q«geg%wgegagegagag~g~g~ga \
3 \

NTeLFo[FoLToLT 7T %ﬂﬁﬂﬁﬂﬁ-ﬁ-ﬁ-ﬁ-

2 e e e e Y o e e e 5 e L
A s s s s s s AR s s s

NeLeT2(57 255 °[55 ° 55 2455 °f5T >[5T 455 °/57 3\, \\

&
&
&
&
&
&
&
&
&
&
§

Ref.

Pic.

Qty.

DPP

M6x12

DPPO010xx
DPP015xx
DPP020xx
DPP025xx
DPP030xx
DPP040xx

00 0o N

DP

M6x12

DP015xx
DP020xx
DP025xx
DP030xx
DP040xx
DP050xx
DP060xx
DP080xx
DP100xx
DP120xx

00000000000~

3

DP015xx-DP020xx
DP025xx-DP120xx

-

Xy

DP015xx-DP030xx
DP040xx-DP120xx

%

DP015xx-DP020xx
DP025xx-DP120xx

7

Q

DPO015xx-DP120xx

Torque
7-10 Nm

HOFFMAN.nVent.com

| www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

35




FORM 3

MSES
HORIZONTAL DIVIDER

© 00000000000 e 6 0000 0e0 00000

JI7I77II7777

77

/i,
79
78
IASs s s <
RN-\ Y B = w
Uil
.mw....a s
7
79
79
79
79
79
li%
79
79
o%
X
A
R
A
2
)
29
29
AN
22
AR
R
AR
W)
Nk
WY

36

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 4
FIXSYSTEM

37

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

Pic.

Ref.

A | G M5.5x13 | 20

FORM 4

MSFP
VERTICAL PROFILES

T25

/1711077777777 777777771777777

1111777077177 7477777717770777777

Torque . —|

7-10 Nm

o e e e e N N N e R =N e N A=t aa]

glo ol

d[o oo

[SE=[=CeCeL=[=r=-=ref=r==sf="=-sT=r=r==s]

8G1

y0¢

Profile is mounted in this depth
if you are going to use partial doors/panels

Profile is mounted in this depth
if you are going to use front covers

38

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



W NI <+ < (O (O (O (0 00 00 00
=>
I>>>>>>>> o]
Coobbbbbod ¥
[eeololololoNeNe N 4
Sbomoowoo &
m oIS He 2
~ Z2Z2Z2ZZ2ZZ2ZZ2ZZ2Z2Z o
. 5 cooaaooaa g
QO S S==2=2===2=2= 7
o = NNNDNNDNNDNNDNDNDN =
b 222322222 =
OOV D O X
£ 888888888855
F Oe-cdAaTITn00 D0
Z2Z2ZZ2ZZZZ2ZZ2ZZ2ZZ2ZZ2Z
foonooonooono
S=S==2=2=2=2=2=2=2=22=
NDNDANDNDNDNNDNDNDNDNNN
S=S=S=========
u—
[0
& <

FORM 4
MSMPN/MSMPNxxxxV

T25

MOUNTING PLATES

39

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



..W.. o o
Q ~ ~
o
N~
x
6 ©
= Yo}
o =
()
T | < | o
14

FORM 4
MSADP
DIN ADAPTOR

T25

@.,\.

5 s ® s s s s v s ®

40

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 4

MSFG
CONTACT PROTECTION

YRR

Cosssscaadl,
~] BE=

av!

X/IIIIIITTIITIT7IITIIIIIIIITIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIT

41

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



2 FORM 4 Ref. Pic. Qty.

b MSFCP U ST5.5x13
FRONT COVER PROFILE MSFCP1806 | 18

MSFCP1808 18
A MSFCP2006 20
MSFCP2008 20
MSFCP2206 20
MSFCP2208 20

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 42



2 <+ < ©©ol - - N ® S
€]
- o - o
M X X X X X X X X X X X X
T OO0 00 0o [eNoNoNoNeNel
X HOoOOoOO0OWOoO | = OO OoOWwWOo
. O —~ N OO S © T —~ N OO F O
S |vwoooodn | oo
o S O00000 |z OOOOO0O
MMMMMMMMMMMMM
%SSSSSS DDODDDDD
====2== ======
Y
o) <
14

FORM 4

MSMCP
SLOTTED FRONT PANEL

T25

Torque
8-10 Nm

43

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



Qty.

2
4
4
4
6
6
6
8
8
10

Pic.

% M5.5x13

MSMBP050x
MSMBP100x
MSMBP150x
MSMBP200x
MSMBP250x
MSMBP300x
MSMBP400x
MSMBP450x
MSMBP500x
MSMBPG600x

Ref.

A

FORM 4

MSMBP

T25

Torque

@ & @
AN
7 &, 777 T 7T T 7
1 74 \
___ o5
ks \
A\~ < =« <« / ................................
N mww/... AN LR @ % 5 5 s s s Ces e s
il A\ 7
A o\ DS N R ¥
o 7
Z 9
a9
T 7 5
g
7 5
Z 77/ A \\\\
7 5
O G
i) S
n'd e e
__ B 2
1) J7777 77
B 2
N N 2
2
B 2
A D) 0 4%0 0 0 e 00 0 6 6 00 00 0 0.5 00 06 000000000 as e 0000000000 aes e 00000 eses oo
s SN F) e e o o o 6 o6 o o o o e o o o © o © o o © o o o o o o o s o o o o o e o o © e o o o s © o o e o o o o o e o e o o o o o o o o o o
_ NN
nﬂ‘:ﬂ £ £
o 29
N
2 :
2
2
ﬂtdyt tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
1 2
"

44

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 4

MSIS
HORIZONTAL DIVIDER

45

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FORM 4
MSES
HORIZONTAL DIVIDER

R\ A=A zAT AT oA e Ao AT e AT e AT ohT e AT e AT AT wﬂ‘\gahah.ab.ahhh., oD DD DD B D D DI DO D DS D]

e cccccocccscoo 9

II7777777777

7
/)
7 )
7
7

46

POWER SYSTEM MANUAL

7777777 J77777777777 77777 T77777777 7 77777

6 g0 0000000000000 0,06000000000000ce0ogooeoo0o0ee0 00000 0,00006600000000 00,0 0

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

3
4
4
4

2

8
8
8
8

Pic.
% M5.5x13

MSCE200
MSCE250
MSCE300

[
{»)10-14H

Ao
&
[T

MSCE150
MSCE200
MSCE250
MSCE300
MSCE150
MSCE200
MSCE250
MSCE300

Ref.

A | MSCE150

C

FORM 4

MSCE
CABLE BOX

T25

AT A A A AT AT A A A A A AT A A A A A A AT A AT A A AT A A A A T AT T AT A A A AT AT AT A AT A AT A A AT A A A AT AT A AT A AT A AT AT AR

/

SO GS ES E  B  HSE SEEC O S RS S D O S B DU R DL 00 DN OO SO SO

ATTTTTTTTTTLTITR IR VLNNLY,

a
vy

47

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



PLUG-IN SYSTEM

L
4
<
4
«
L ]
4
4
#

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 48



T25

T30

S
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~N
~
~
~
~N
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~
N
~
~
~
~
~
~
~
~
~
~
~
~
~
~
~N
~

S

MSSB
VERTICAL BACK SEPARATION PLATE

10-15 Nm

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

Ref. Pic. Qty.
A | \p M5.5x13
MSSB1806 | 14
MSSB2006 | 16
MSSB2206 | 18
B | \p M6.3x13
MSSB1806 | 10
MSSB2006 | 10
MSSB2206 | 12
Torque
10-15 Nm
POWER SYSTEM MANUAL 49




< < NN e
by © 2
% * s 8888 8888
: 0 © > BSOS B S [CRSETRS]
L2 2 = 2iaae aaaf
[ = = 5556 0000
gssss nnnn
% '(MMMM SS=S82
Y
Q < [as] (@] o
[14

MSCP
FOR PLUG-IN CONNECTION

T30

T25

50

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

Pic.

Ref.

A M5.5x13 3

MSCM
MOUNTING PLATE FOR COMPARTMENT

T25

51

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

Pic.

Ref.

A | M5.5x13| 4

MSCH
TOP COVER PLUG-IN SECTION

T25

Torque
10-15 Nm

E

Vs ‘ ? b
PR A
.GWWV.G %.o.%

W 117777777077 TFITIITIIIIITIIIITIIITIIIIIIIIIIIIIIIIIIIIIEIIIIIILTIIIIITIT )

52

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.
3
4
4
4

Pic.
M5.5x13
MSCE200
MSCE250
MSCE300

[
{»)10-14H

Ao
&
[T

MSCE150
MSCE200
MSCE250
MSCE300
MSCE150
MSCE200
MSCE250
MSCE300

A | MSCE150

Ref.

MSCE
CABLE BOX

T25

©c0 © o o+0 © o o0 o o o-0 o o o-o

53

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



CABLE SECTION

vy
SOSDSTSO)

S nooTnseTRUS:

o

0

N Cn e A N I e e R TS e S UG U U I SR TS

TS NN RSN N AU UGS

o

SnooonUGURUST

ToooonoooaosUG:

o

o Zoaonun:

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 54



Qty.

Pic.

A | M5.5x13| 21

Ref.

MSPM
SEPARATION PLATE CABLE SECTION

T25

Torque
7-10 Nm

55

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



T25

MSCFR Ref. Pic.

REAR CABLE PROFILE A | U M5.5x13

HOFFMAN.nVent.com

www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL

Qty.
10
Torque
7-10 Nm
56




Qty.

Pic.

Ref.

A | \p M5.5x13| 10

MSCFS
SIDE CABLE PROFILE

T25

SV

Torque
10-15 Nm

57

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



TOP/BOTTOM FRAMES

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 58



Swa

T30

=
m442444
o
XL g N
s|8 | s|s5/2/18 |5
| s| ==
Sl ePle o
MABCDEF
oE
Sw
S& (o)
L
=
5 <
CR w9 G
M_|_|
o
O
—
of
muo
SBI%
= ob

59

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

4

4

Pic.

(B M12x20 | 4

M12

g wm12

Ref.

A
B

PCU
BOTTOM FRAME

Swa

SW19

<

\ Torque

15-20 Nm

=
I ————
ETeATeA Ao AT oA oA AN e AT A e AN AT AN oA e ASTe AT e ASTe AT AT AT ASToASTe (-

N /1

o

60

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



T30 TOP/BOTTOM FRAME SIDE PANEL

MCUP/PCUP

Ref. Pic. Qty.
A M6x12| 8
B @ M6 8
C 2

Torque o — |
8-10 Nm

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

61




DOORS, PANELS, SIDE PANELS

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL 2



T25 T30

N ;

Nl

Nl

Nl

02 .

il ;

N 4

4l 4
N N[l 4
N Nl 4
N Nl 4
N Nl 4
N Nl 4
N Q g @
N [~ @
| < 4 @
Q| E : @
N @ @
Q| @ @
Q| @ @
Q| @ @
Q| @ @
N @ @
A 0 §
o Ia 4

CDH
HORIZONTAL DOOR DIVIDER

Torque
4,5-5 Nm

IP55

HOFFMAN.nVent.com | www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

Ref. Pic. Qty.
Al @ swxio | 4
B M6x12 | 8
/@
S
Cc AT 4
[
i
D | J 4
E / 2
Torque
8-10 Nm
POWER SYSTEM MANUAL 63




» DPC/DPCV Ref.  Pic. |Qty.

50 TOP/BOTTOM PANELS

A | @ mex12| 8

B At 4

&q
NN

Torque
10-15 Nm

@

e e e et

NV 2 o i Y o Y Y o Y e Y o ) o ) o ) ) ) ) |

>

VA
D

e e R e TR

Y Y e Y e Y ) e e L
Bl ol ol AT o5 o5 5 LT LT L5 oA -

Torque
10-15 Nm

7

N

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 64



8

Pic.

)

Ref.

A M6x12

DP
PARTIAL DOORS

T30

' é g@ T\orque DPXLXXE

CDH

8-10 Nm

65

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



T30

CDH

DPP
PARTIAL PANELS

i

© 5 0 ¢ ¢ 0 0 0 0 0 0 0 6 6 & & o)y

Tl

S e ST e e A s s\

D= === == = il e ==\

Ref.

Pic.

Qty.

M6x12

DPP010xxR5
DPP015xxR5
DPP020xxR5
DPP025xxR5
DPP030xxR5
DPP040xxR5

@ 0 0 0 b

£l#
DPP010xxR5
DPP015xxR5
DPP020xxR5
DPP025xxR5
DPP030xxR5

DPP040xxR5

A A BANODN

Torque
8-10 Nm

HOFFMAN.nVent.com

www.eldon.com

SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

66




Y SPM
= SIDE PANEL
* - Used only on enclosures 800mm deep and above. Torque _ |

HOFFMAN.nVent.com | www.eldon.com

8-10 Nm

SUBJECT TO CHANGE WITHOUT NOTICE

Ref. Pic.
A | Q@) mex12| 01
B M6x16 6/8/9
c @ M6  |6/8/9
@] 2
\
B
POWER SYSTEM MANUAL 67




ACCESORIES

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 68



CC E/CCEH Ref. Pic. Qty.

T30

EXTERNAL BAYING KITS CCE

A M6x12 | 24

@ Méx12 | 12

@~

[Adhesive gasket from enclosure kit|

2] 3]
= &)
o @) Ny @)
& 7
;@ o 2 o
° o ’ o
Q o o .
d 0 21l 0
Z ° 0 ° o
o ol i
i i
|% Ll g n
[l 3l e
R " @ A
d ° 0 ‘:g b
© (| o
0| ° o § o
) ‘@ . 0
g ° ) ‘g »
9 o % 9
3 gl
6-8 Nm

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 69



LCO02/LE9304 Ref|  Pic. |Qty.
LIFTING DEVICE A Cppmizxes 4

B 2
cl & M2 8

D %MQ 4

1 LC 02 /® 2| LE 9304

Torque
%%/ 15-20 Nm
T———a_ Torque
15-20 Nm
&

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 70



6400N 10200N

LE 9304

===
=

GGM ' DIN 580

27000N

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL

71



MCUK

Torque
15-20 Nm

D)
©
»)

Torque
15-20 Nm

Ref. Pic. Qty.
A \ 4
B| 4 M2 4
C M12 4
D @ M12 4

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE

POWER SYSTEM MANUAL

72



Qty.

Pic.

A M5,5x13 | 2

Ref.

MSCEP
BRACKET MEASSURING TRAFO

T25

Torque
10 Nm

R

7

3 IS
[
QM © >

S 2D

AN TERNY TNV TS\

73

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



BUSBAR-SYSTEM

‘

HOFFMAN.nVent.com | www.eldon.com SUBJECT TO CHANGE WITHOUT NOTICE POWER SYSTEM MANUAL 74



Qty.

Pic.

Ref.

A \p M6.3x19 | 22

MSHS
BUSBAR SUPPORT

T30

N

““ 4&//
@ @ ’\\4/ &
g WD Y\

NN e\ e
SN /AN QX

8
S

75

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



Qty.

Pic.

Ref.

A | % M6.3x13| 10

MSFH
REAR BUSBAR SUPPORT

T30

Torque
20 Nm

|MSFH| | BUSBAR

76

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



Qty.

12
14
16

Pic.

M6.3x13

MSVH1800F
MSVH2000F
MSVH2200F

Ref.

MSVH-F
BUSBAR SUPPORT FRONT

%
T30

Teareae) AT aTaTaTa) |

..... NG

)
7 ) \¢
b /

\
4
&

g o ST

"

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

77

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



7-10 Nm
Torque
20 Nm

()
>
o
=
o
T

| ove
&g iid
= nnw
===
&
2
=
)
o
D
-l
o
—
t5
na
=0
)
n
e
<
0
)
)
m

%
T30

- - o : :\\ - -
/f%//’/

AA NN TN Y AN

’ /7/’%/

& ORI A
A\

AU N N RTRCR WY

* - BOLT, NUT AND WASHER NOT INCLUDED

78

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



Qty.

12

12

Pic.

€, M10x30

T m1oxd0 | 12

M10

0

1

M

Ref.

A

MSBS
VERTICAL BUSBAR

SW16

kel
S . o 14
8538 T E
cce HE I
282LE 2o 2o
Z32xg =2 =W =
—Zcx
Ccou? - a %)
5208 a9 2> =
200D o Z <
00082 A_I AhNu
rge) 5=
o< =
Z0
o 2
—
@)
@
_» el
D 19}
3 3 s
= = <
%)
=

— 7

‘ M = _ h&@%@@%@%

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu

1,

79

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



MAIN BUSBAR

Swi17

\Zd

AT

MR T

Plug-in system

BOLT, NUT AND WASHER

NOT INCLUDED

M10x

MSHS

Fix system

80

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

HOFFMAN.nVent.com | www.eldon.com



FIX BUSBAR INCOMING CONNECTION

BOLT, NUT AND WASHER
NOT INCLUDED

0
o
-
s ®
@
Qe
=}
oZ
—
S~
T4/
(®]
m
w
=
X
o
=
o~
IANNNN + s e csorocoocencoocrcrsocnaceoccococcaecesonecsosacsccoccoscancacens == ==
=
18] \\ N\ )
. <
»Q;Q;Q;Q ” ° ” : i ° ° .0.0
g/
7/ : . . . . f«f (n'd
777N\ VA \\ N N S N VIS N VI
V7 = = T Y %
/79 Q
gy 77 S A AL or A@JA Wy %
e/ il <~ <= <~ = ~ ~ ~ h s Y. X <~ T <~
\RR g
R 73 7 7 7 7
2\ (S) (S (S) o o a - ok
R &
ﬂﬂmrﬂ / e
)
A\ \ /

2\ )
W, /) S S S RN ) N S S S R w%
R : 7
e Y
M)
e
N
N

p) 117077777007 778007777F7F7IIIITIIIIIITIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIT )

81

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

www.eldon.com

HOFFMAN.nVent.com



FIXBUSBAR OUTGOING CONNECTION

BOLT, NUT AND WASHER

NOT INCLUDED

Torque
47 Nm

MSBC

M10x

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

N A x

o)

~ 03 44<..
57 77
7 v

By
- %.0

\& S
&>

B |%.oo.o

/)

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

82

POWER SYSTEM MANUAL

SUBJECT TO CHANGE WITHOUT NOTICE

| www.eldon.com

HOFFMAN.nVent.com






Our powerful portfolio of brands:

CADDY ERICO HOFFMAN RAYCHEM SCHROFF TRACER

eldon.com
nVent.com/HOFFMAN

©2020 nVent. All nVent marks and logos are owned or licensed by nVent Services GmbH or its affiliates. All other trademarks are the property of their respective owners
nVent reserves the right to change specifications without notice. Eldon Power System Manual, 1.0




